
Division par 10⁻² (A)Trouvez chaque quotient.
1,838 ÷ 10⁻² = 6,32 ÷ 10⁻² =
8,3 ÷ 10⁻² = 6 ÷ 10⁻² =
5,43 ÷ 10⁻² = 3,79 ÷ 10⁻² =
9,8 ÷ 10⁻² = 7,4 ÷ 10⁻² =
1,315 ÷ 10⁻² = 4,3 ÷ 10⁻² =
1,18 ÷ 10⁻² = 5,3 ÷ 10⁻² =
3,1358 ÷ 10⁻² = 4,66 ÷ 10⁻² =
8,6058 ÷ 10⁻² = 5,359 ÷ 10⁻² =
6,182 ÷ 10⁻² = 4,7 ÷ 10⁻² =
5,64 ÷ 10⁻² = 3,2556 ÷ 10⁻² =
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Division par 10⁻² (A) SolutionsTrouvez chaque quotient.
1,838 ÷ 10⁻² = 183,8 6,32 ÷ 10⁻² = 632
8,3 ÷ 10⁻² = 830 6 ÷ 10⁻² = 600
5,43 ÷ 10⁻² = 543 3,79 ÷ 10⁻² = 379
9,8 ÷ 10⁻² = 980 7,4 ÷ 10⁻² = 740
1,315 ÷ 10⁻² = 131,5 4,3 ÷ 10⁻² = 430
1,18 ÷ 10⁻² = 118 5,3 ÷ 10⁻² = 530
3,1358 ÷ 10⁻² = 313,58 4,66 ÷ 10⁻² = 466
8,6058 ÷ 10⁻² = 860,58 5,359 ÷ 10⁻² = 535,9
6,182 ÷ 10⁻² = 618,2 4,7 ÷ 10⁻² = 470
5,64 ÷ 10⁻² = 564 3,2556 ÷ 10⁻² = 325,56
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